N
“ iT % @ Exposants négatifs de 10

Nom: Date: Note: _
1072 = 516,7 x 1009 =
2x10= 5x10% =
1072 = 539, 8+ 107 =
435,5+ 107 = 3x10=
458,8 x 107 = 1009 =
9x 1071 = 1002 =
458,6+ 107 = 667,3 + 10° =
1077 = 100D =
2% 10° = 470 + 102 =
1003 = 1004 =
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& iT % @ Exposants négatifs de 10

Nom: Date: Note: __
1072 = 0.01 516,7x 107 = 0.05167
2% 10=20 5% 10% = 500
1072 = 0.01 539,8+ 10% = 5.398
435,5+ 107 = 4355000 3% 10 =30
458,8 x 107 = 0.04588 107 = 0.0001
9x 107" =0.9 1072 = 0.01
458, 6+ 107" = 4586000 667,3 + 10° = 6.673
107 = 0.001 1079 = 0.1
—2 x 10* = =200 470 + 10> = 4.7
107 = 0.001 107 = 0.0001
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